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For your challenge todaoy I would like you see if
HOM can come up with some of youwr own
Adivision gquestions and then drow the bhar
Adiogrom underneath to show the answe.r.
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For your challenge today I would like you to
use your knowledge of odd [exven numhers to
answer the guestions helow. Rememhber you
must exploin how youw know the answer! ©

[s 56l odd or exven? Why?

s 692 odd or exven? Why?

Shelly has 25 pencils.

Her teacher haoas asked her to
divide them hetween 2

pOLA.

Shelly soys, I won't he able to do
it.” s she right? Explain why.
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For your challenge today I would like you to
use your knowledge of dividing /mui,ti,pi,gin,g by

5 and 10 to answer the questions helow. ©

[0 + 5 = 240 + 10 =
18 X 5 = 17 X 10 =
21 X 5 = 330 + 10 =

Mark soys that 16 X 5 = 83.

s he right? How do youw know?

Henry says 23 X 10 = 220.
s he right? What might he hawve

done to get this answer?

N X X X N N X X X N X Xp X 0 X X X X N NP Xp X N N Xp X N Ne X N NP Xp X N X %p 0 N X X X N X 0 X N X X
N X X X N X Xp X X N X Xp X 0 X X X X N NP Xp X N Xe Xp X N Ne X N N Xp X N X %p X N X X X N X 0 X N X % X

B ASASAGASASASLEASAGAS A EAGASAGAEAGAS A SASAG AL SAGAR A A AGAS A SASAGAS A ¢



